> restart
> with(inttrans) :

L 1
> Fi= (s—2)-2
SR
| (s—2)
> f:=invlaplace(F, s, t)
fi=te?!

> Equa := diff (y(t), t$2) — 7-diff (y(t),t) +12-y(t) =4-exp(21)
& o(d a2t
Equa:= <5 y(t) ~7 ( & y(t)) L 12y(t) =4e
> InitCond :=y(0) =4, D(y)(0) =-
i InitCond :=y(0) =4, D(y)(0) =-3
> LapTransEqua = subs(InitCond, laplace(Equa, t, S))
LapTransEqua := ¢ laplace(y(t),t,s) +31 —4s—7slaplace(y(t), t,s) + 12 laplace(y(t), t,
4
i s—2
> LapTransPartSol := simplify(isolate(LapTransEqua, laplace(y(t),t,s)))
66 —39s+4¢°
(s—2) (£ —7s+12)

s) =

LapTransPartSol := laplace(y(t), t,s) =

[ > PartSolution = invlaplace(LapTransPartSol, s, t)
PartSolution :=y(t) =15 et —13¢* 2%
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